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ABSTRACT RESULTS

167 frames of one out of 5 crystals of the SBDG [3]
reference set SNX17 were analysed with XDSGUI
(graphical user interface of XDS) (Fig.2) and
non-isomorphous frames were identified according
to ACC,, (~>100). Exactly the same tendency can
be observed for the correlation of every single
frame with the previously published model [4], as
non-isomorphous data sets showing negative ACC,,,
also show reduced correlation with the model.
Rejection of those frames rescaling and merging
with 4 other data sets led to improved CC,,,, R,....
and internal correlation between the merged 5 data
sets.

INTRODUCTION

What is non-isomorphism? Fig.2:ldentification of non-isomorphous frames according to ACC,,

and validation by correlation of the single frames with the model (CC-Model)
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build the atomic model (Fig.1). B e pattern 60

During data collection lots of
frames from different crystals
are measured for reconstruction
of the model. Because of
radiation damage and different
experimental conditions electron
systematic errors, thus ErEi  density
non-isomorphism, can Yok
occur. Only (similar)
Isomorphous frames should be
merged for calculations.
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Fig.1: Molecular X-ray
crystallography CONCLUSION
METHOD

The ACC,, method uses CC,,[1] to identify
Isomorphous frames. The CC,, of all frames
Is calculated which is denoted as CC,,, ,veran-
For every frame CC,, is again calculated, but
one specific frame is excluded during the
calculations resulting in CC,, ;. Finally, the
difference is taken:

Accl/z = ccl/Z_overaII - CC1/2_i

Frames with a negative ACC,, therefore
display impairment of the data set and
vice versa.
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